Polymak’

PM6023-HD  wacnercoriLL

Max Drilling Capacity:  23mm

Magnetic Adhesion: 13000N
No load speed: 330r/min
Fixture:

Power 1880W

Weight: 21KG

www.polymak.co.in

Polymak’

PM6023-HD SPARE PARTS LIST

No Parts Name Pcs [ SeriNo INR No Parts Name Pcs [ SeriNo INR
1 | MT-2spindle 38 | ScrewNut5
2 | Circrip 39 | Board
3 | 6205RZ 40 | ScrewM3
4 | Screw M6 41 | Connector
5 | GearBox 42 | Connector
6 | Interal screw sleeve 43 | Rackpart
7 | Flat Gear 44 | Screw M8
8 | Middle Cover 45 | Spring Pad
9 |RrRz 46 | FlatPad
10 | Cluster Gear 47 | Magnetic Base
11 | Bearing 608 48 | Circrip
12 | Bearing 6201 49 | Lift Gear
13 | Armature 50 | LiftSpindle
14 | Bearing 6000 51 | Lifter Bar
15 | Air Deflector 52 | Bakelite Ball
16 | Bearing 6201 53 | Indicator Light
17 | ScrewMs 54 | Fuse
18 | Spring Pad 55 | Magnetic Switch
19 | FlatPad 56 | Power Switch
20 | Stator 57 | Circuit Panel Assembly
21 | Field Coil Cover 58 | Holder Washer
22 | Field Coil Housing 59 | CordSleeve
23 | Brush Holder 60 | Cord
24 | Carbon Brush
25 | Brush Holder
26 | Motor Back Cover
27 | Screw M6
28 | Connector
29 | Screw M6
30 | Lifting Guide Plate
31 | ScrewMs
32 | Screw M6
33 | Rack
34 | ScrewMs
35 | Iron Bar
36 | BackCoverailit
37 | ScrewMs




